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Abstract: The rest mass of the proton and the rest mass of the electron can be expressed by the
radius of the proton and the radius of the electron.
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First of all, our consensus is this equation, that is, w=2n(me)[ao](c),
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And then | found out that there could be,
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And because | wrote two equations before, that is,
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So, there can be,
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So, from the equation above, that is, mass can be expressed in space,

That is,
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Where (c) is the Speed of light, (e,) is the Elementary charge, [a,] is the Fine
structure constant, (Ry) is the Rydberg constant, (a,) is the Bohr radius, (Myom) is

the Basic atomic mass, (m,) is the Electron rest mass, (Gy) is the Gravitational
constant, (r.) is the Radius of electron,(r,y,) is the Radius of proton.
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